2002 - Projectiles Question

Cad

(a)

(b)

A particle 1s projected from a point on the horizontal ground with a speed of
39.2 m/s inclined at an angle & to the horizontal ground. The particle is at a

height of 14.7 m above the horizontal ground at times f,and 7, seconds,
respectively.

(i) Show that t, —f;, = 1,‘,"[64 sina —12.

(ij)  Find the value of & for which ¢, -1, = V20,

A particle 1s projected with velocity u m/s at an angle € to the horizontal.
up a plane inclined at an angle B to the horizontal. (The plane of projection is

vertical and contains the line of greatest slope). The particle strikes the plane
at right angles.

(i) Show that 2tanftan(6— )= 1.

(i)  Hence, or otherwise. show that if & = 28 . the range of the particle up

the inclined plane 1s
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